password =

sor sds(
coPin =
no2Pin = 35;
t 03Pin =
nt vocPin = 3

id setup() {
Serial.begin(11526|
Seriall.begin(9600);
WiFi.begin(ssid, password);
\ iFi.status I= WL CONNECTED)
delay(1 5
Serial.println

Serial.println(
sds.begin(

loop() {
Result pm = sds.readPm
covalue = analogRead(coPi
no2value = analogRead(no2
. 03value = analogRead(o3Pir
nt vocValue = analogRead(vocPin);

m.is0k
Serial.print("PM2.5:
Serial.print(pm.pm25);
Serial.print
Serial.println(pm.pm1@);
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Serial.
Serial.
Serial.
Serial.print
Serial.println
Serial.
Serial.




